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1. W% p = 0.172Pa. sHEIEHER AN FE AR ERS, @E 1 BiR, SMEE
£, WD = 120mm, [AKS = 0.2m, AK: HBAFRLLEE Y = 1m/sIHL 5 REE 3R
(B 1a), ATARERTIN A1 HANELLEER = 180r/minfig#r (B 1b), AR
MNAT. .

A1 & 2

2. AXNUEERETRERSRE®RE, & 2 iR, 251k, = 600mm, h, = 250mm,
hy = 200mm, h, = 300mm, hg = 500mm, p; = 1000kg/m3, p, = 800kg/m3, p; =
13598kg/m3, RHIE A 1 B RERE.

3. Wl 3 FiRfiaA—KES. SEEERNERESR, ’d=05m, h=2m, H=
2.5m. RAAREEAERNERE LOREEES.
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4. WA 4 iz, KFEZT60'HHE Lk AB, CH A 4ERd, =05m, B &ERdg =
0.25m, BiTHRKEqg, = 0.1m3/s, B AE/IRIEHP, = 1.8 X 10°Pa. ®ELER—K
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5. B—AuEGER A FERRSFEES A = 4x, v=—4y.
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Q)YEERIZF A (Im, 1m) ZHILEX EEA1.4 X 105Pa, FAKKIZEp = 1.2kg/m3,
M B (2m, 5m) AL EIRAZE /7
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